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Hall Ticket No. in the space provided above.

2. This Question paper consists of 100 objective questions in Two Parts: Part-A and
Part-B for 100 marks. Each question carries one mark.

3. There is Negative marking for PART-A only. Each wrong answer carries 0.33 mark.
No mark will be deducted for an unanswered question. Marks obtained in Part-A will
be used to resolve tie cases.

4. Answers are to be marked on the OMR Answer Sheet following the instructions
provided thereon.

34 Please handover the OMR Answer Sheet at the end of the examination to the
Invigilator, You may take the Question Paper after the examinations is over.

6. No additional sheet will be provided. Rough work can be done in the Question paper
itself.
% Cell/Mobile phones are strictly prohibited in the examination hall.
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Section A:

Following is the direction to answer Questions from 1 to 5. In each question below are given
two statements followed by two conclusions numbered I and 1. You have to take the given
two statements to be true even if they seem to be at variance from the commonly known facts.
Read the conclusions and then decide which of the given conclusions logically follows from
the two given statements, disregarding the commonly known facts.

1. Statements: All jungles are tigers. Some tigers are horses.
Conclusions : 1. Some horses are jungles.
I1. No horse is jungle.
A. if only conclusion I follows.
B. if only conclusion IT follows.
C. ifeither conclusion I or II follows.
D. if neither conclusion I nor II follows.

2. Statements: No gentleman is poor. All gentlemen are rich.
Conclusions : I. No poor man is rich.
I1. No rich man is poor.

if only conclusion I follows.

if only conclusion II follows.

if either conclusion I or II follows.

if neither conclusion I nor 11 follows.

ocaowe

3. Statements: All pens are chalks. All chairs are chalks.
Conclusions : I. Some pens are chairs.
1I. Some chalks are pens.

if only conclusion I follows.

if only conclusion II follows,

if either conclusion I or II follows.

if neither conclusion I nor II follows.

vowp

4, Statements: All trucks fly. Some scooters fly.
Conclusions : I. All trucks are scooters.
I1. Some scooters do not fly.

if only conclusion I follows.

if only conclusion II follows.

if either conclusion I or 11 follows.

if neither conclusion I nor II follows.

Oowp
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5. Statements: No bat is ball. No ball is wicket.
Conclusions : I. No bat is wicket.
IT. All wickets are bats.

A. if only conclusion I follows,

B. if only conclusion IT follows.

C. ifeither conclusion I or II follows.
D. if neither conclusion I nor II follows.

6. The next term in the series 13, 17, 19, 23, 29, 31 is:

A, 37
B. 39
C. 41
D. 43

7.1f VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :

A. LOQOZEH
B. HLZEOOQ
C. ZELHOQO
D. LQOOFZH

8. SWAYAM stands for Study Webs of Active Learning for Young Aspiring........

A. Module
B. Merit

C. Mature
D. Minds

9. As per recommendation of the NEP-2020 which of the following course will be
discontinued '

A, B.Ed
B. M.Ed
C. M.Phil
D. Ph.D

10. The Right to Education Act (RTE) is enacted in the year:

A. 2009
B. 2010
C. 2011
D. 2012
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11. National Institution for Transforming India, also known as NITI Aayog formed in which
of the following year

A. 2016
B. 2020
C. 2014
D. 2015

12. The Program for International Student Assessment (PISA) is an international assessment
that measures 15-year-old students’ reading, mathematics, and science literacy every

. three years

. wo years

. for years

. alternative vears

A
B
¢
D

13. Ministry of Human Resource Development is recently renamed as:

A. Ministry of Human Resources

B. Ministry of Educational Development
C. Ministry of Education and Learning
D. Ministry of Education

14. AS per NEP-2020, a teacher will be able to teach in mother tongue or regional language
up to Grade

A. Grade 3
B. Grade 4
C. Grade 3
D. Grade 7

I5. The Justice Verma Commission recommendations are pertaining to

A. Teacher Education
B. Vocational education
C. Technical Education
D. Higher education

16. According to NEP 2020, the current 10+2 system is to be replaced by a new curricular
structure. What is the new curricular structure?

A SEFEFE
B. 5+3+4+2
G SHEIH3HS
D. 5+3+3+4



17. What is the full form of ABC as per the NEP 20207

A. Academic Bulk of Contracts
B. Academic Bank of Credit

C. Academic Business Council
D. Academic Bureau of Credits

18. Which of the following organization deals with school education?

A. SCERT
B. AICTE
C. CCMB
D. ICAR

1. In STEM education T stands for

A. Teaching
B. Tuition

C. Training
D. Technology

20. The full form of NCFTE is:

A, National Commissioned Framework for Teacher Education
B. National Curriculum Framework for Technical Education
C. National Curriculum Framework for Teacher Education

D. National Curriculum Framework for Tertiary Education

21, Which of the following is considered as the right punctuation

i. We should live slowly sweetly soberly all the time.
ii. We, should live slowly sweetly soberly all the time.
iii. We should live slowly, sweetly, soberly all the time.
iv. We should live slowly, sweetly, soberly, all the time,
A. i
B. iii
C. iv
D. ii
22. She went there daily, Daily is an adverb of:
A, Time
B. Frequency
C. Degree

D. Quantity
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23. Which of the following is not a word used in English?
A. Fast
B. Fastly
C. Faster
D. Fastest
24. Change the following sentence from the active to passive form

The guard blew the whistle

The guard blown the whistle

The whistle was blown by the guard
The whistle blew by the guard
The whistle blown by the guard

SOwp

25. He killed a tiger. It was very big

If the above two simple sentences combined into one simple sentence, which of the
following is the correct answer?

A. He killed a tiger which is very big
B. Hekilled tiger which is very big
C. He killed very big tiger.

D. He killed a very big tiger.
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Section B
26. Acéording to the behaviourist school of psychology, the teacher is
store-house of knowledge.
A leader in the classroom.

Supervisor of children’s learning activities.
Creator of appropriate learning conditions,

Dowp

27. Which of the following is an incorrect pair?
A. Multiple theory of intelligence — Guilford
B. Theory of classical conditioning — Pavlov
C. Psycho-social theory — Erikson
D. Theory of meaningful verbal learning — Ausbel

28. Which one of the following conditions qualifies to be an instance of negative
reinforcement?

A. Accepting the condition as it is

B. Withholding a reward

C. Withdrawing a painful stimulus

D. Excessive rewarding

29. “Give me the baby and I will make it as you desire™ was the diction pronounced by

A. Guthrie
B. Pavlov
C. Skinner
D. Watson

30. Which of the following correct order comes under Maslow’s hierarchy of needs?
A. Self-actualization, safety, love, and esteem
B. Physiological need, self-actualisation, esteem, and safety
C. Physiological need, safety, love, and esteem
D. Physiological need, esteem, self-actualization, and love

31..Which of the following is not included in secondary laws of learning given by Thorndike?

A. Law of multiple response
B. Law of mental set

C. Law of readiness

D. Law of associative shifting

32. Identity versus role confusion is a characteristic of
A. Childhood stage
B. Adolescence stage
C. Infancy stage
D. Early childhood stage
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33. Five statements are given below. Identify the statements which constitute teaching
techniques to enhance motivation and learning. Choose from the Codes to indicate your
answer,

(a) Distribution of practice and rest in learning

(b) Teachers interaction style

(c) Providing immediate or delayed feed back

(d) Students reaction to success and failure

(e) Whole and part learning

Codes :
A. (a), (b) and (e)
B. (a), (b) and (¢)
C. (b), (¢) and (d)
D. (a), (d) and (e)

34. Inclusive education is about
A. making provision for all children
B. welcoming and celebrating diversity
C. both (A) and (B) are true
D. Technical education

35. Which of the following describes the extent of the effect of heredity upon development?

Heredity determines how far we will go.
Heredity determines how far we can go.
Heredity is the primary determinant of how far we will g0.
Heredity is the primary determinant of how far we can go.

J0wp

36. According to Piaget, cognitive development in human beings takes place through four
-important stages. Identify the correct order of these stages.

A. Pre-operational, formal operational, concrete operational, and sensory motor
B. Sensory motor, concrete operational, and formal operational pre-operational
C. Formal operational, sensory motor, pre-operational, and concrete operational
D. Sensory motor, pre-operational, concrete operational, and formal operational

37. Which of the following is not an example of inter-individual difference?
A. The child is black in colour.
B. The child is fat.
C. The child likes potato,
D. The nose of the child is sharp.



38. Which of the following statements about ICT in education are correct?
(i) It improves efficiency.
(i) It helps promotes collaborative learning.
(i) It does not enhance social skills

(iv) It is not helpful for self-evaluation.

Select the correct answer from the codes given below:
A. (i) and (ii) only
B. (ii) and (iii) only
C. (iii) and (iv) only
D

. (1) and (iv) only

39. ICT helps the teacher to
(i) promote collaborative learning.
(ii) pave the way for personality development.
(iti) provide for new ways of interacting.
(iv) deepens understanding.
Select the correct answer from the codes given below:
A. (1) and (ii) only
B. (ii) and (iv) only
C. (i), (i1) and (iii) only
D. (1), (ii), (iii) and (iv)
40. Basic principle of Programmed learning is
A. principle of small steps B. principle of large steps
C. principle of attractive steps D. principle of medium steps
41. Actions and appearances in the context of classroom communication are considered as :
A. Non-verbal " B. Verbal

C. Impersonal D. Irrational

42. Successful Communication in classroom teaching is
A. Circular B. Reciprocal

C. Directional D. Influential



43. Most often, the teacher-student communication is:
A. Spurious B. Critical
C. Utilitarian D. Confrontational
44. A good teacher must be
A. resourceful and autocratic B. resourceful and participative
C. resourceful and authoritative D. resourceful and dominant
45. Assertion (A): Non-Verbal communication happens through oral or written language.
Reason (R) : Communication type depends upon the nature and type of media or the
channel used by the sender and receiver.
Select the correct answer from the codes given below:
A. Both (A) and (R) are correct and (R) is correct explanation of (A)
B. Both (A) and (R) are correct and (R) is not correct explanation of (A)
C. (A) is correct but (R) is false
D. (A)is false but (R) is correct

46. Assertion (A): To communicate well in the classroom is a natural ability,
Reason (R): Effective teaching in the classroom demands knowledge of the
communication process.
Select the correct answer from the codes given below:
A. Both (A) and (R) are true, and (R) is the correct explanation of (A).
B. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
C. (A)istrue, but (R) is false.
D. (A) is false, but (R) is true.

47. Which school of philosophy of education, exaltation of individual’s personality is a
function of education?

Marxism

idealism

Idealism and Marxism
Pragmatism

COowE

48. The book “Learning — The Treasure Within” is authored by
A. 1.S.Rajput
B. N. Bennett
C. J. Delors
D. J. Halak

L&
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50.

51,
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The best theory of liberation in Indjan philosophy has been advanced by

A. The Jainas

B. The Samkhya
C. The Buddhists
D. Advaita Vedanta

Vivekananda included study of religion, philosophy, Upnishadas and Puranas to achieve

A. Propagation of Indian culture

B. Spiritual development of the child

C. Development of intellect of the child

D. Complete development of child's personality

Which of the following does not pertain to intellectual development aim of education
A. Spiritual development

B. Cultivation of intelligence

C. Training and formation of mind

D. Development of Cognition

. The learning depends on

(1) Experience of the learner

(i) Motivation of the learner

(iif) Methods in which the learning materials are presented to the learner.
Select the correct answer from the codes given below:

A. (i) and (ii) only

B. (i) and (iii) only

C. (ii) and (ii1) only

D. (i), (ii) and (iii) only

. The aim of education according to the Existentialists is

A. Objective knowledge

B. Adaption to practical life

C. A good understanding of the world outside
D. Humanitarian and humanist self realisation '

54. Which philosophy of education considers Psychology as an incomplete study of and an
inadequate basis of educational theory?

A. Realism

B. Naturalism
C. Existentialism
D. Idealism
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55. In the classroom, the teacher sends the message either as words or images. The students
are really

encoders
decoders
agitators
propagators

0w

56. Which statement about the truth is not correct according to the philosophy of Pragmatism?

Truth is eternal

Truth is made by man

Truth is ever changing

Truth is what emerges to be true in actual practice

COwpe

57. I think, therefore, I am’, is the basic principle of

A. Realism

B. Marxism

C. Existentialism

D. Logical empiricism
58. The scientific analysis of the social processes and social patterns involved in the
educational system is termed as

A. Sociology

B. Educational Sociology

C. Sociology of Education

D. Socialization

59. Which of the following does not come under agencies of socialization?
Family

School

Mass Media

Customs

=Hel- %

60. Match the following

List [ List IT
a. Social Stratification i. Education
b. Social Mobility i1, Constitution of India
c. Social Change iii. Modernization
d. Social Equity iv. Social Class

|48



61.

a~iv,b-iii,c-I,d-ii
a-i,b-ii,c-iii,d~iv
a-iv,b-iii,c-ii,d-i
a-iii,b-i,c-iv,d-ii

TOowy

How is education related to culture? Choose the best answer,
A. Education preserves old culture

B. Education creates new culture

C. Education sustains old culture and ushers in new ones

D. Education and culture are mutually supporting each other

62. The practice of comparing other cultural practices with those of one’s own and
automatically finding those other cultural practices to be inferior is

A. Cultural Norms
B. Cultural Pluralism
C. Cultural Relativism
D. Ethnocentrism

63. Which of the following is not a characteristic of Modernisation?

04.

65.

66.

A. Religious faith
B. Participation
C. Empathy

D. Mobility

This focuses on Competition between groups
A. Social Conflict theory

B. Social Change

C. Functionalist theory

D. Social Mobility

Cultural Lag is

A. A change occurs when old traits are replaced by new ones

B. Borrowing of cultural elements from other society

C. Context between one culture and another to change the existing trait
D. A gap occurs when different aspects of culture change at different rates

According to Rousseau there are two kinds of inequality
A. Physical and Political inequality

B. Physical and Practical inequality

C. Positive and moral inequality

D. Natural and artificial inequality

L%



67. Who was the man to introduce the concept of ‘Deschooling Society’?
A. William Douglas
B. Ivan Illich
C. Karl Marx
D. Daniel Bell

68. Which of the following is not the technique of a supervisor?

A. School visits
B. Surprise visits
C. Annual visits
D. Excursion visits

69. The Father of Scientific Management Approach is
A. F.W. Taylor
B. Henry Fayol
C. St. Etienne
D. W. Willson

70. Identify the institution exclusively meant for planning and administration of education in
India.

A. NCERT
B. HSE

C. NIEPA
D. NAAC

71. A well defined management should focus on
A. Supervision
B. Organisational aspects for proper development
C. Teacher's problems
D. Disciplinary aspects

72. Leadership becomes most effective on the basis of
A. leadership personality traits
B. followers motivation
C. situational factors
D. leadership style

73. The chief responsibility of the school principal is to:

organise the guidance programme

provide leadership in the instructional programme
to listen to parental criticism

to handle discipline problems

OO
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74.

i)

76.

i

78.

79.

80.

Most distributed leadership models take care that leadership Jocated:

A. At the top of the organisation
B. Throughout the organisation

C. In key hierarchical positions

D. In self-directed teams only

Which of the following is an assumption of Transactional Theory of Leadership?

A. Stress is the enemy of rationality

B. People perform their best when the chain of command is definite and clear
C. Effectiveness of leadership also depends upon situations.

D. Personal qualities and characteristics differentiate leaders from non-leaders

Preparation of school time table falls under the function of:

A. organizing
B. planning
C. directing
D. reporting

In the long run which leadership style is the most effective?
A. Autocratic

B. Participative

C. Transactional

D. Transformational

Etymologically the word Pedagogy means?

A. To guide the child

B. To lead the child

C. To educate the child

D. To understand the child
Andragogy is related to

A. Kids learning

B. Adult learning

C. perception

D. Human behaviour

The major domains of instructional objectives;

A. Cognitive, Affective & Psychomotor domains
B. Cognitive & Affective domains

C. Cognitive & Psychomotor domains

D. Psychomotor and Affective domains



81. The role of teacher in constructivism is:

A. Leader

B. Facilitator

C. participant

D. None of these

82. Which of the following is not a learner centred method?

A. Inductive method

B. Project method

C. Problem solving method
D. Lecture method

83. 'Application’ is related to which domain of educational objectives?

84, 'SkilP®

A. Cognitive
B. Affective
C. Psychomotor
D. Psycho-social

is related to which domain of educational objectives?

A. Cognitive
B. Affective
C. Psychomotor
D. Physiological

85. Which aspect of creativity is not measured by Torrance Test?

Sawpe

Fluency
Flexibility
Originality
Elaboration

86. Raven’s Progressive Matrices is a type of-

A,
B.
C.
D.

Non- verbal intelligence test
Verbal intelligence test
Performance intelligence test
Non- language intelligence test

=2 -37

87. Which of the following curves is the most common and popular among 4 learning curves?

A.
B.
.
D.

Curve of equal returns
Curve of increasing returns
Curve of decreasing returns
S-shaped curve

(6



88. Which of the following is not a prihciple of Linear Programmed Instruction?

A. Principle of small steps

B. Principle of active responding

C. Principle of continuous evaluation
D. Principle of explanation

89. Which of the following is not a level of teaching?

A. Memory

B. Understanding
C. Projective

D. Reflective

90. The highest level of Bloom’s taxonomy of objectives among given below is-

A. Understanding
B. Application
C. Evaluation
D. Analysis

91. Which of the following is the highest level of Gagne’s hierarchy of learning?

A. Concept learning
B. Chain learning
C. Rule learning
D. Problem solving

92. Which one of the following is not a measure of central tendency?

A. Mean

B. Median

C. Mode

D. Standard deviation

93. The value of correlation ranges from?

A, «1to+1

B. -5to+.5
C. -4to+4
D. -9to+9

\F
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94. Intelligent Quotient is calculated by the formula-

A. 1.Q.=M.A. X 100/C.A.
B. LQ.=C.A. X 100/M.A.
C. LQ.=M.A.X C.A. /100
D. 1.Q.= 100/ M.A. X C.A.

95. Which of the following is not a characteristic of Normal Probability Curve?

A. Bell shaped
B. Symmetrical
C. Real Curve
D. Unimodal

96. Which of the following is not a step of Project Method given by W. H. Kilpatrick?

Creating the Situation
Planning

Financing

Evaluating

COowp

97. The work of D.W. Allen is related to which of the following areas in education?

A. Constructivism
B. Microteaching
C. Taxonomy
D. Plagiarism

98. The class activity that uses cooperative learning is ......................

A. Jigsaw method

B. Induction method
C. Deduction method
D. Dogmatic method

99. The view that “Anything can be taught at any stage of development” was expressed by

A. Piaget
B. Asubel
C. Bruner
D. Gagne

100. Teacher’s leaving one school to work in another without change in status is an example
of:

A, Vertical mobility

B. Horizontal mobility

C. Intra-generational mobility
D. Inter-generational mobility

12
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